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(5) Biology / Safeqi

[y the correct statement about “gratuitous

inducer” from the options given below :

(1)

(2)

(3)

&)

[t can bind with promoter region of a
gene but cannot facilitate gene
expression.

Isopropyl thiogalacteside (IPTG)
resembles lactose,

It is after the binding of gratuitous
inducer with the main inducer molecule
agene ean be expressed,

It resembles the inducer molecule but
has no role in gene expression.

What is the structure of the chromosome during
the Metaphase stage of Cell Division ?

(1)

(3)
()

It iq made up of two sister chromatids,
which are held together by the
centromere

It is made up of a number of sister

chromatids which are attached to spindle
fibres near the centrosome

Sister chromatids are absent

It is made up of non-sister chromatids
attached to a pole of the cell

The bacterial genera which are often included

in probiotie foods are :

(1)  Bacillus and staphylococcus

(2) Lactobacillus and salmonella

(3 Lactobacillus and clostridium

()  Lactobacillus and Bifidobacterium
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ai,  doining ropeating units for formation of a
meromolecule in called :

(1 Polymorphism

(zy Condensation

) Aggregation

1)  Polymerisation

From Lhe following oplions identify the causal
prgnniam of the disease in human being which
has symptoms like deformities and thickening
of lower limbs and genital organs,

5.

Whuechereria bancrofti

n

Encylostoma duodenale

2

Taeniasolium

()

Salmonella typhimurium

0

A plant bears fruits, has a column of vaamd:fr
bundle and a tap-root system. The plant is
afan ;

TEE

Angiosperm and monocol

(1

(2)  Angiogperm and dicot

(% Gymnesperm and dicot

) Gymnogperm

For which of the following product, g;eneticallr
engineered option are not available

2 Ingulin

(1) Cotton

7.

76.

T6.

(&  Antibody (4) Neuron
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(0
(2)

(3)

(4}

79.

m
()
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78.  Select the proper sequence in the development
of an embryo

Cleavage — moruln — blastocyst =+
trophoblast and inner cell mass

Fertilisation — blastocyst
implantation — cleavage

—¥

Blastocyst — Morula — inner cell mass
and trophoblast — implantation

Second meiotic division —# fertilisation
— zygote = implantation

In context of photosynthesis, which one of the
following statement is true 7

Photoionization takes place only PSI

Cyclic Photophosphorylation invelves
both PSIand PS I

Photolysis of water takes place during
PSI

FSIlpreceeds PS1

Choose the set where all the three are the plants

‘ that produce the fruit type. sorosis:

(1
()
| @
(4)

(D
(@)
(3)
)

Z-18

Arlocarpus, Morus, Ananas
Ficus, Aegle, Fragaria
Morus, Anona, Psidium

Ananas, Anona, Ficus

81. Forthe purpose of human chromosome analysis
different chromosome banding techniques are
used. Which type of chromosome region is
identified by C-banding technigue ?

Constitutive heterochromatin
Congregated euchromatin
Constitutive euchromatin

Telomeric region
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Pravinge aetifivial hebenlization experiments the
procesn ol vmnsenlation” s not required in the
Mivww pvnf

(o pepayn 2y wheat

o bringal ) potato

Choese the ineorreet statement from the
following :

(1 Pollen tube grows through Dhe tisgues of
the st and =0vle to veach ovary.

) In plants which shed pollen in the
deeelled condition, carry 2 male gametes
in the pollen tubie from the beginning.

(1  Thesynergide present at the micropylar
end of the embryo-sae guidoe the entry of
pollen tube into the embryo-sae.

(1)  Pollen tube discharges the male gametes
into the central ecell of the embryo-sac,

Achemical mulagen alters the pairing property
of Adenine base in such o way that it pairs with
cytosine base during the process of replication,
What would be the code sequence in mRNA by
a DNA sequence with altered base for the
original DINA having sequence CAGGAC?

(Il GUCCUG (2)
{# GCCCCG ()

cuc cuc
CCGGCC

Amino acid such as glutamie acid is used in
the food industry as a nutritional supplement.
Identify the genus of microbes used for
production of glutamic acid.

(I} Corynebacterium
(2)  Arthrobacter
(3)  Thermoanaerchacter

(1)  Enlerobacter
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Ansertion ; Temperato regiona account
for gronter biclogical
diversity na compore Lo
Lropics,

Renson Tropienl environments,
unlike lemperats ones, nre
leas seasonal, rolntively
moro constont.

() " Both Assertion and Reason are true
and Reason is correet explanation of
Assertion,

{2)  Both Assortion and Renson are true
but Reason is not the correct
explanation of Assertion.

(3)  Assertion is true but Renson is false.

4)  Assertion is false but Renson is true.

87.  The components of an ecosyatem that are seen
to function as a unit for its sustainability are :
(1) Energyavailability, nutrient cycle, water
supply and decompasition
(2)  Productivity, energy flaw, water cyele
and decomposition
(#)  Decomposition, energy flow, productivity
and nutrient cyele
{4)  Energy flow, water cycle, nutrient cycle
and productivity
88. Choose the correct option, Calvin cycle takes
placein:
(1) C;and CAM plants only
(2) C, Cjyend CAMplants
(3 Cjand C,plantsonly
(4) Cyand CAM plantsonly
Z-20
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g1, Assertion ':"T‘) :

Oxygen gets bound to
haemoglobin of blood
present in ecapillarics
around alveoli and gets
dissociated at the tissues,

Reason (R) : Factors favourable for
formation of
oxyhnemoglobin are high
pOy, low pCO, lesser HY
concentration and lower
temperature wherens in the
tissues low pO,, high pCO,,
high H* concentration and
higher temperature are
favourable for dissociation
of oxygen from
oxyhnemoglobin,

In the context of above statements, select the
correctone ;

(1) Both (A)and (R)are true and ( ﬁ] is the
explanation of (A).

(%  (A)istrue but (R) is not necessarily true,

(3  Both (A) and (R) are true but (R:I is not
an explanation of (A).

4) (A)isfalse but (R) is true

90. The approximate duration of cell cycle of a
human cell is :

()  12hours  (2)
(8 01 hour 4

06 hours
24 hours

91. Select the correct combination of tissues tlhut
are not observed in an old trunk of a dicot
trop

(1) Collenchyma, Stomata, Trichomes
(2  Sclerenchyma, Phellem, Laticifers
(3 Bark, Cork Cambium, Secondary xylem

(4  Vascular cambium, Cork Cambium,
Secondary Phloem
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92.  Which of the following can be considered to be
the reason of crossing over during meiotic cell
division 7

n

()
@
)

Presence of excess nutrients in the cell
medium

Very high temperature
Antagonistic nature of cells

Pairing of Homalogous Chromosome

893. BOD of waste water is estimated by measuring
the rate of :

(1)

(2

@

)

formation of flocs by rigorous growth of
aerobic microbes in a sample of water.

uptake of oxygen by microorganismsin
asample of water,

digesting fungi and bacteria in the given
sample of sludge.

production of biogas during digestion of
bacteria and fungi in the given sampla.

94. Match the insect resistant morphological
characteristics found in the plants with their

corresponding insect pests.

(n) Hairyleaves i)  ballworm
(b)  Sclid stem (i)  jassids

(€} Smooth leaves ()  stemborer
() Highasparticacid (iv)  stem sawfly

Correct set of answer is :

(1)
(2
(3)
@
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al.

" mi RNA can :

Which one of the following seta of phiyla hnve
animals showing prosonce of cirenlntory

avatem ¥

(1 Annelida, Arthvopodn, Fehinmlermatn,

Mollusen

9 Avtheopoda, Platehelmintlos, Molluses,
Annelida

¢ Platyhelminthes, Behinodermatn,

Hemichordates, Annelida

Chordata, Ascholminthes, Mollusca,

{4)
Arthropeda

Which ameng the following micvoorganisms are
important in biologieal N, fixation and
nodulation in roots ?

(x) Rhizobium M Azetabacter
(@ Rhodospirillum () Frankia
Code:

() (b)and (c) 2 (c)and (d)
{3 (a)and (c) 2] . () and (d)

(1) repress genesof diffevent origin

() repress gene of their own origin

(3) enlh{ance expression of gene of rr_hnir own
origin

(4)  notplay any role in gene expression

Which of the following statement does not
appropriately substantiate the concept of RNA
being the initial genetic material ?

()  Selfsplicing property of RNA molecule

(2 Involvement of molecules like NAD or

FAD in the process of ATP synthesis.

@ Involvementofenzyme primnse in DNA
replication.

(4)  Phosphorylation of ereatine to form high
energy creatine phosphate molecule
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99,

(a)
(b)

()

(d)

100.

101.

Choose the correct option with the part of an
kidney tubule and seleet the correct one fram
the options given below |

Henle's Loop (Y
Glomerulus (i7)

Reabsorption

Maintenance of high
osmolarity

Selective secretion
and maintenance
of pH

Proximal (i)

Convoluted tubule

Ulteafiltration of
bload

Distal Canvoluted (iv)
tubule

Options :
()
(iii)
(iv)
0]
(i)

(d)
]
0

(iv)
(1)

(b)
()

(1)
(1)
()

(c)
iv)
(i)
(iii)
(0]

(1)
2
&)
()

Which of the following discace has been
attempted to be cured using genetic engineering
technigque 7

(1)
(@)
(3)
(4)

Severe combined immuno deficiency
Acquired immuno deficiency syndrome
Down's syndrome

Klinefelter's syndrome

Which of the following correctly explains an
epitope ?

(1) Region of antibody that binds with

antigen
V-region of the light chain of antibody
Heavy chain of an antibody

Region of antigen that elicit secretion of
gpecific antibody
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102. Choose an incorrect option of an ideal
contrnceplive @

(1)
(2)
@
“

uger - friendly
ensily - available
effective & reversible

costly

103. Long period of exponentinl increase in the
population growth niedel :

(1)
(2)
&)
)

are not common in real world
are commonly found in real world
allows life to continue on the earth

is consequence of organism living in the
same environment for a long period.

104. Sedimentation coefficient'S' (Svedberg’s Unit)
is indirectly a measure of :

(D
(2
(3
()

Veolume and weight

Size and colour

Mass and gravitational force

Density and size

105. The chemical produced by Calotrapis, which is
uged by it against the browsing of cattles and

gonts is

{1) strychnine

(2  quinine

(@  opium

(4)  cardiac glycosides
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106. Typhlosola inan enrthworm lips betwpen :

106, W F ¥ fewie avfem dm g

(1) 1- 3 sepments (1 1¥3TsFaw
K] 5T segments ) bsHTESFAN
@ 9.4 3 : 3
) o~ Msegments o3 9RI4TTHdN
h  26.35 segments .
() 26F35TSHAE
107, Mateh the given phyla with the important .
chnmct:m'iutic features found in each of them 107, &0 A8 (FEEH) R e EW!T' 1 Fr;
respectively, fire =98 faerd EGok-vk i ici k] fﬁﬁq H
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108 Spot the odd one out from the following | 108. 3% % & yomm 7 &
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110, Pallinium ean be characteristically observed
in:
(1) Orobanchocene  (2)  Orchidnecne
(#  Solanaceac (1) Compositne
111. [UCHN is alzo ealled as :

(1) Man and biosphere programme

(2  World conservation union

3 World wide conservalion union

)  World conservation consortium

112 A trait was found to be present only among
males of o family pedigree.

Which of the following aptions correctly explains

the above phenomenon ?

(1) Mitochondrial Inheritance

(2)  Maternal Inheritance

@  Y-chromosome linked Inheritance

{44 X-chromosome linked recessive
Inheritance

113. Assertion : The elamax community is
more or less stable with the
climate.

Reason : In a particular climale area
that may develop climax
communities with variety of
characteristic dominant
speces.

(1) Both Assertion and Reason are true
and Reason is the correct explanation
of Assertion.

(2) Both Assertion and Reason are true
but Reason is not correct explanation
of Assertion.

(3) Assertion is true but Reason is false.

(4)  Assertion is false but Reason is true.
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Chemical mediated gene transfer can be

fncilitated using :

(n
(2
(3)
)

Ethidium bromide
5% brome uridine
Poly ethylene glycol

Poly acrylamide

115. The palindromic site in a DNA molecule can be

identified by ;

(1}  RNApolymerase

(2)  Reversetranscriptase
(B}  Restriction endonuclease
(@)  Ribozymes

116. Which of the following is a correct statement
about the process of DNA replication ?

(1)

(2)

@)

(4)

DNA synthesis takes place mainly by
DNA - polymerase | in E. coli

Gap filling after the removal of primeris
dona by DNA-polymerase I11

E5B proteins bind to the DNA strand in
which the leading strand of replicating
DNA is synthesized,

Direction of DNA synthesis in the lagging
strand is 5' — 3§ direction

117. Which ofthe following options correctly explains
the sequence of procogses in PCR.?

(1)
(2)
(3)

“

Z-28

Primer annealing — DNA synthesis —
Denaturation

Primer annealing —» Denaturation —
DNA synthesis

Denaturation — Primer annealing —
DNA synthesis

Denaturation —» DN&I synthesig —
Primer annealing

114, TETAF BUTEER S & S T

B H e i) A
() veifsTE WS
@ 5-am i
L@ e e T
(4 e GRS
115, g, H feam AR e T
20 = w7
1 FRTEY T
(2 et gEhes
o(3) iEEiE e
() A
116. FluAw wiasta =t wfwm & Hed # Frafafas
S W T 7
() tEmEE A IEEE T g
# FwE T e B
@) e, e I W e
Ggae et
o (3) Winpd TN, 1 HeeHw I WA =
g 3 ol v A, i e g
RIS ) =i &
@ w2 g Y dew 5

=3

7. fr=fafEs =6 o ey @l # o

I WHE F w6 w8 wmen o d?
O R T - D g -
fawgiomm
@ R ffmo - S
! —
@ TTEhER s R - AL
e
() mﬂifﬂﬁv[—;ﬁ.?{a.q, HEAT0 — W
it

18A310




118. Aspecies may be considered endemicif:

{1)  found inonly asingle geographieal aren
and ne where elze,

(2)  the species remains alive in human
controlled conditions,

(#  itisfound only in small populations.

(4)  species have low rate of population
inerease

119. Succus entericus contains ;
(1) electrolytes
(2) insulin
3 mucus

(4)  avariety ofenzymes

120. Choose the correct option where in all the
mentioned cell types possess thick, and
lignocellulosic cell walls

(1)  Sclereids, Tracheid, Vessel member

(2) Collenchyma, Selereid, Guard Cell

(3) Endodermis, Sclerenchyma, Sieve Cells
{4y Trichome, Trac'heid. Vessel member -

121. Pyramid of a biomass in ocean is inverted

because :

a)  The biomass of phytoplankton is greater
than zooplankton.

(b) - Biomnss ofa trophie level depends on the

longevity of its members,

(c) Phytoplankton grow and reproduce
rapidly

(@ The predator fish is much larger than
zooplaniton,

Which of the above statements are true 7
M (), () and (c) (@) (), (c)and (d)
@  (@.Mand{d @ (a) (c)and d)

18A310
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Ti.mi Site of water oxidation and souree of O
evelution in photosynthesis lies in;

M inner space or lum enof the thvluboid
) stromn

@3 outer surface of thylakeid

A eristae

123, Vaseularized skin, muscular tongue. cloaca,

nucleated RBC are all charaeteristios of :
() Pheretima posthuma
2 Homo sapiens
@ Periplaneta americana
4)  Ranatigrinag
.

124. Haplontic life cycle in plants shows presence
of :

(1) Gametophytic phase represented by the
single or few celled haploid gametophyte

(2)  Haploid and diploid both phasges which
are multicellular

(3  Diploid sporophyte which is dominant
and independent

(4 Free living gametophyte which
dominantes the life cycle

125. The category of air gquality is considered to be
of moderate pollution when the Exceedence

factoris:

(1) >15 (2 1.0-<15

(9 0.6-<L0 4 =05
Z-30
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126. Transmissible Spongiform Encephalopathy | 126, zimfafaae v tfalaid (TSE) v wn

(TSE) is a neurodegenerative condition caused =pirdratTza feafd 78 Fo S T
due toa - o
M  viroid @  virus ) “

(3  mycoplasma (4)  prion (3 TR IR , () TEHA

, frafefan = faem ifae 7o wff fasa =
127. Match the following and choose the correct 127. ol i

option A BT

@ Family @  indica @ F @ e
® Order () Plantae ®» ™ i) A

(© Genus (i) Anacardiacese © =W (i) TS
@ Kingdom Gv) Sapindales @ i Gv) #fr3fm

E UG

&) wiviE (V) H=iiFn

(e} Spedes (v)  Mangifera

Code:

(@ (b)) (@ (& (e il
fa) (b) (&) @ (o)

M i) 6 & @ W

@ O ) &) 6@ Gy ' :

@ @ v & @ 6 W@ @ M & @ -

@ & & O @ @) @ W » O @ @

I G @ G @ o)
@ ® @ & @ G

128. A cross bridge is formed during muscle | 128 ﬁlﬁﬂ?ﬁﬁﬁ'&ﬂﬂﬁﬂ?ﬂﬂ ﬁ:mmwm

contraction by skeletal muscles due to : WAME .
(I)  absorption of a neurctransmitter (1) e = i
()  actinbinds to exposed myosin head @ e A i % P

(@  accumulation of citric acid

@) fafe o w1 g o
(@) 1 f sodium i into th
::I;ZE sodium ions into the @ mﬁmﬁ?ﬂfswaammaaam

18A310
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128, Generation of net ATP molecule(s) during

Cellular respiration without involving fazud T :ﬂﬂl LS
mitochondria occurs during : -
@ FEEI
(1}  Kreb's Cycle a
i e
2)  Electron-Transpert Chain @ 3
{3 e HFEATT
(3  Substrate - Level- Phosphorylation )
PrEE A
(49}  Photorespiration )

130. The Vascular connection that exists between
the digestive tract and liver is called : y
{1} Double circulation m T yiEEn
(2) Pulmonary circulation o(2) W'Eﬂ‘q wfte=Tm
(3  Systemiccirculation @ afiw i
(4)  Portal circulation (4) e giEE
131, ..?:elect the correct option to name an auto - | 131, dfw-Tuit & = Wk 0 96 |-ufih
e e sl s vl | o, s e o, e v
paralysis of skeletal musele : Tl §, % Ha 4 T HEl FYF & T HL
(1)  Osteoporosis (1)  sifEREE
()  Arthritis @  anunkw
(3) Muscular dystrophy (3) i gwim
{4) Myasthenia gravis o(f) TR Hfaw

A32. The middle piece of the sperm in Human
Reproduction helps:
()  toharbour the haploid nucleus
(%) toenvelop the whole body of the sperm
(3)  toproduce energy for sperm motility
(4)  toprovide nutrition to the &perms
Z-32

182, W 3 YRV ST e i e w0

(1)
(@)
* ()
(4)

VT 2 T e w H

TP F 0 e amafin wet 91
mﬂﬂﬁﬁﬁlﬂaﬁfm'ﬁﬁﬂl
T3 3 o 3 feqe

13&3{“? 3

i



133. In a cytological preparation of meiotically

dividing colls, n dicentvic annphage bridge was
observed under the mieroscope. What would
be the possible eause of such appenrance in n
dicentrie chromosome 7

(1} Substitution mutation
(2)  Parncentricinversion
(@  Pericentvicinversion

(0 Delotion mutation

134. Apractice of animal breeding in which superior
male of one breed is mated with superior female
of another breed is called :

{1) Crossbreeding

2 Inbrecding

(8 Interspecific breeding
(4) Outbreeding

135, '.'Drm bad apple spoils the lot”. This common
chservation is best attributed to:
(1)  Auxin
(2) Cytokinin
(3)  Gibberellin
()  Ethylene

1BAB10
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136,

137.

138,

Ch

Identify the boeterium which ig ingerted into n
crop plant to provide resistance to pests from
following options.

()

Bacillus typhimurinm

(2)

Bacillus tatwanensis

(3

Bacillus thuringiensis

() Bacillus tropica

When a pea tendril comes in eontact of a string,

it coils around it. What kind of tropic response
does it exhibit ?

(0
(2)

Chemotropism
Phototropism

(3)  Heliotropism
(4 Thigmotropism

Respiratory Quotient of 0.7 of a tissue or an

Organ is suggestive of the respiratory substrate
to be :

(@) Proteins
®)  carbohydrate
(@  Malate
lipids

Choose the correct pair :

Code:

(1) (a)+ () @ (a)+@)

@ @+ @ )+
Z-34
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Assertion (A) @

There are twenty amino

139. :
nc:ﬂr‘: which oceur in
proteins. The chemieal and
phlysi-:nl properties of amino
nmﬂs are essentially of the
anno, carboxyl groups and
the R functional groups.

Reason () : Ba slr-nd on the number of
amino and carboxyl groups
there may be acidie. basic
and neutral amino acids.

In the context of above statements, select the

correctone

(1) Both (A) and (R) true and (R) is

explanation of {(A).

(2)  (A)istruc but (R) is not necessarily true.

@ Both(A)and (R) are true, but (R} is not

an explanation of (A).

(4)  (A)is true but (R) is false.

140. Artificial Insemination technique is used :

{n

@

@

)

to assist those females who cannot
conceive

to assist couples who cannot afford due
to poverty

due to very low sperm counts in the
ejaculates

to assist females who cannot produce
vinhle eggs

141, Thequality of oxygen in waler (dissolved oxygen
-DO) along with BOD is indicated by the kind

of prganisms present in water,

The fish become rare at DO value of :

(1
2
@
()

18A310

4 to 5 ppm of water
5 to 6 ppm of water
6 to 7T ppm of water

7 to 8 ppm of water

139, UTTOT(A) ;S i e W s g € ) g
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142,

143,

144,

Hody eavity inthe cavity present betwean body
wall nnd the gput wall, In seme animals the
body eavily is not lined by mesoderm instead it
is present o8 scattered patches, Such animals
are ealled ;

n
(B}

(2) Coclomatn

(1

Haemoeoelomnto

Peoudecoclomnte Acoalomate

A cross wag done between dominant wild type
grey bodicd male Drosoplitla melonogasier
having developed wing with recossive mutnnt
yellow bodicd female Iy having vestiglal wing.
Fy offspring of the above cross were na follows :
(a)  Allfemales were of wild type variety with
grey body and developed wing,

(&)

All males were of mutant type with
yellow body and vestigial wing.

Based on information given above, identify the
genotype of parental generation from options
given below

+

+
P>
T3

A

(1 b

+
.I.
+
+

+
+
e
=

.

(4)

e
a4
i
£
oy

The characteristics of epithelial tissues are :
(a)
(b)
()
(1]

always ciliated

non-vascular

with lots of extracellular material
tightly packed

From the characters mentioned above choose
the eorrect code

(0 @+
@ ©+@

@ @+
@ (a)+@
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s, Theshaved tevivinal dwet of Reproduet v al Vs, e sre 0 parern wed op i a gl st Sft
Uemnry Syateni in hvman made fy . :

(N Upsthea
(y
& Ureter

(2) vl

e Vasdelorens
; o B

(h Vaaneflerentin o0 I

¢y g b

146, Whichof the Tollowing committee in vesponsilily
for taking deewsion abaut gonetic modilication e St ST N riedhm el ¥ Jﬂ]ﬂﬁmm

oforganism velatod vesoarel in ladin ¥ e
¥ foaman 11 ool 99w enfieni e afufa =6t 9
(1} National Botanical Resenveh Institute 7 -
(MBI

() e dieFrne fard wEtaE (NBRI)
(2)  sfveer wEfie siiw i fard (1CAR)

(2} Indinn Council of Agricultural Researel
(ICAL)

M Institute of Genome Resenveh 1GR)
¢ ' 4 S o) W Al s farsi (o)

() Genetic  Engincering  Approval

Committee (GEAC) () SR EifE dyew w99 (GEAC)

147. The osmotic concentration of 1.0 M sucrose shall @ 1.0 M TR T WIEel! Az AnE et
be equal to that of':

() 0.1 M NaCl )  0.5M NaCl () 0IMNaCIF (2 0.5MNaCl¥F

® 0.IMCaCl, () 0.5MCaCl, @ 0IMCaCl,F () 0.5MCaCly¥

148. The following condition is observed when a | 148. Frafefem feuft wa e s & o v i

neuron is not conducting an impulse and the TR 1w T W A T =t o -
axonal membrane is: ’ '

(1) more permeable to X! A K* 3 fa s gror i{

(2)  more permeable to Na* *2 Nat% fere ey wromey 4]

(3)  more permeable to Cat *+ ) Cﬂ++ﬁ1‘ﬁ’|ﬁ.mm%t

() impermeable toions in general (1) AN e fem sraromey 4
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149,  Inimmune response mechanism elonal selection
is & process in which :

150,

(M

(2)

e}

()

aspecial type of clone cell line isidentified
in aeell eulture

the proliferation and differentiation of
lymphocytes occur in response to a
specific antigen

cloning of a specific gene is done by
inserting the same into a bacteria by
recombinant DNA technology

selection of an appropriate cell type is
done for the purpose of eloning

Ureides, such as allantoic acid and citrulline,
are translocated in leguminous plants

through :

(1) rootxylem to root nodules
(2} symplastic pathways

(@)  rootnodules to shoot xylem
(4)  facilitated transport
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